Client:

Canadian Natural Resources Limited

PURCHASE ORDER

Project Nama: Umbach Comprassor Station Upgrade
EQUINOX_ Preject No: 201-09-00 Revision: Rev H
Engincering Lid Logdl Ska Descriplion: | c-18-F/94-H:3
AFE.: FC111257
WAW.SUINC 81 O Efeciive Date: Friday, December 14, 2012
Canadian Natura) Resources Limitad Purchase Ordar: 201-08-00 - 0001 Revislon: 0 Cllent AFE®: FC111257
oo EQUINCK ENGINEERING LTD. Committed Date:
10th Floar, 808 - Sth Avenus SW
Calgary Albans
Canada T2P 3GS
Authorized By: Sterlng Stres Ordersd By: Amanda Zeleny Raquisitioned By; Jasnssi Minhas Terms: Net 30 days
Ta: Tank Lita Cradlas Lid. Ship To: Planss contac) Amands ZelenydD 403-298-8344 for shipping instructions
Address: 2002 Crocus Rd. NW
Caigary AB CAN
TA 028
Aftenticn: Ted Corzier Via:
Talephone: 403.269.5525
tacsimile:
Emall: ted.crozier@@iankiite.com
Quetation ¥; TEC-1220.% R.T.S. Date: February 01, 2013
1ssuw Date; Decamber 14, 2012 IncoTerm: FCA: Kattwm, AB
Mem Tag Ne. Clamt internal Description Units Prica uom Cosl| Ray
Code Coda
1 [ 24000 24080 | HIKIH PREBSURE FLARE KNOCKDUT DRUM IN ACCOHDANCE WITH THE ATTACHED DATASHEETS t
{DS-C-400-F-1-00). OTHER DOCUMENTS AS LISTED N LOTA (LT-C-400-F-01-00}, AND VENDOR QUOTE 8
1EC.12201
2 o 24000 24080 HYDROTEST TQ 50 PSIG 1
E] [ 24000 24080 I 150# IMTERSTITIAL JACKETED VACULUM RISER VW NEOPRENE GASKET SET OF T 1508 1
UNDERGROUND BOLT-UP 4 . /8 X 1.5 6TUDS / 8 HEX KUTS
4 [ 24080 24080 ¥ DIAMETER 1509 AF T32158 FLEX CONNECTORS FLANGED IHLET END 1
5 o 24080 24080 ACDDER FOR QUTLET HOZZLE BIZE CHANGE FROM &* TO 10° DIAMETER. 1
L] o 24000 24080 10 DIAMETER 1508 RF 732158 FLEX CONNECTORS FLANGED QUTLET END 1
T 0 24000 20080 T 1508 PUMPOUT RISER Wi FLEXATALLIC GASKET, SET OF 3° 1508 UNOERGROUND BOLT-UP 4 - 52 X 1
1.5" ETUDS / 8 HEX NUTE
] [ 24000 24080 4 1308 LEVEL GAUGEROARD RISER WIFLEXATALLIC GASHET, SET OF & 1508 UNDERGROUND BOLTAP 1
8.4 X 3.5 STUDS 7 14 HEX NUTS
L] 0 24000 24080 4" 1508 EPARE RISER. SET OF 4* 1504 UNDERGROUND BOLT-UP &« &/ X .57 8TUDS 1 16 HEX MUTS 1
10 ] 24080 24080 & 1502 BURST RISER, 8ET OF & 150# UNDERGROUND BOLT-UP 10 - Sar X 1.5 STUDS / 18 HEX NUTS 1
1" a 24080 24080 | TGS 5020 GAUGE KITH We & FLANGE MOUNT Wr FLEXATALLIC QASKET, SET OF 4° 1508 SURFACE 1
BOLT-UP 8. S X 35 STUDS / 18 HEX MUTS
Manager Sterling Street
PreiDsta: 121472012 EQUINOX ENGINEERING LTTL




PURCHASE ORDER Chant: Cansdian Natyral Resources Limided
Project Nams: Umbach Compressor Siation Upgrade
EQ‘[ IINOX' Project No: 201-09-00 Revision: Rev H
Engincering Lid Lagal Ste D ¢ 18-F194.H.3
AF.E: FC111257
W BUINC-ENg.50m Effective Date Fridsy. December 14, 2012
Bem Tag Na. Cliert | lntamnal Destriplion Units Price Uom Cost Ray
Code Code

12 [ 24088 TA080 | ATJ00 LEVEL TRANSMITIGR FOR A 77 TGS 5020 LEVEL BOARD CAY FART PROTOCAL S LOCAL 1

DiSPLAY
13 o 24080 24080 | PUMP-OUT ENVIRD BIOX FOR I COMNECTION W 1° 88 BALL VALVE & CAMLOCK ADAFTER Wi COVER 1
[N 0 24080 24080 | LATCHING PROXIMITY SWITCHES CAN MOUNTING BRACKETS 1
13 0 24080 24080 { DEVOE 253 NTERNAL COATING ON ALL STL RISERS SHOWN ABOVE 1
14 [ 24080 24080 | DEVOE 243 WIERNAL COATING O STL NOZZLES O ABOVE SHOWN FKO 1
17 ] 24080 24080 | UNGERGROUND PILE MOUNT SKID FRAME FOR POOR GROUND CONDITIONS 1
18 0 24080 21050 | TRUCK LOADING BY TANK-LIFE (20,000 LBS) 1
10 [ 24080 24080 | LOWPRESSURE FLARE KNOCKOUT DRUM IN ACCORDANGE WATH THE ATTACHED DATASHEETS 1

{13-C400-F-200), OTHER DOCUMENTS AS LISTED IN LOTA {LT-C~400-F-01-003, AND VENDOR QUOTE #

TEC-1220.1
20 [ 24080 24080 | HYDROTEST 1550 PSIG 1
1] o 24080 24000 | ¥ 1508 NTERSTITIAL JACKETED VACUUM RISER W NEOPRENE GASKET, SET OF 3 1508 1

UNDERGROUND BOLT-UP 4 - 5/8" X 3.5 STUDS / 8 HEX NUTS:
22 0 24000 24080 | & DIAMETER 1504 RF T32158 FLEX CONNECTORS FLANGED POTH ENDS 2
2 [ 24080 24080 | ¥ 1508 PUMPOUT RISER YW FLEXATALLIC GASKET SET OF ¥ 1508 UNOEAGHOUND BOLT-UP 4. 5/8° X 1

35" STUDS / 8 HEX NUTB
] ° 24080 24080 | 4 130# LEVEL GAUGEBOARD RISER WFLEXATALLIC GASKET, SET OF 4 1508 UNDERGROUND BOLT-UP 1

8.5/ X 3.5 8TUDS S 18 HEX hUTS
25 [ 24080 24080 | 471500 SPARE RISER, SET OF 4" 1508 UNDERGROUND BOLT-UP 8- &/8° X 15" STUDS / 18 HEX NUTB 1
20 [] 24080 24080 | & 1508 BURST RISER. SETOF & LD BOLT-LIP 10 - /87 2 25" STUDS 1 18 HEX TS 1
2t ° 4080 24000 | TGS S020 QAUGE MITE W 4* FLANGE MOUNT Wi FLEXATALLIC GASKET, SET OF 4° 1808 BURFACE [

BOLT-UP A - &/ X 35" STUDS/ 18 HEX NUTS
28 [ 24080 24080 | AT200 LEVEL TRANSMITTER FOR A BFT TGS 5020 LEVEL BOARD CAY HART PROTOCAL & LOCAL '

DISPLAY
29 [ 24080 24000 | PUMP-DUT ENVIRO BOX FOR T CONNECTION W/ I $5 BALL VALVE & CAMLOCK ADAPTER Wi COVER 1
20 n 24080 24080 | LATCHING PROXNAITY SWITEHES CW MOUNTING BRACKETS [
3 0 24080 24080 | DEVOE 253 INTERNAL COATING ON ALL STL RISER'S SHOWN ABOVE 1
32 ] 24080 24080 | DEVOE 252 INFERNAL COATING ON STL NOZZLES O ABOVE SHOWN FKO 1
n 0 24060 24000 | UNDERGROUND PILE MOUNT SHID FRAME FOR POOR GROUND CONDITIONS 1
34 o 24080 24080 | TRUCK LOADING BY TANK-LIFE (28,000 LES) 1

Total kump sum price ('exciuding ab taxes?| e L
Mansger Slarkng Streat Page 3 ol
PrvOate 1211472012 EQURNOK ENGINEERING LTT. A 0 T IR



TANK-UFE'| Tank-Lifé Cradles Ltd. auote
N Sales name  Ted Crozier
mLm Pn (403) 2098525 wab: veww tankife com Ho.: TEC-1220 1
w Fax {403) 200-8520 s-mail tod croziergtankily com Date: 14.Dec-12
2012 Crocuss Road N W . Calgary, Abscta, Cansda T2L 028 Paga: 1ol

Dsllvery: Stock lo 8 weeka

BdTo: CNRL Afer Drwy_ Approval
cla Equinox Enginesring Ship To:  Hold for Pick Up Tank-Lila Yard, Kalhnm
Calgary. Alta Project:  Umbach Compreasor Station Upgrade-CNRL
LSD: e 18-FO4-H3
RFQ#: 210-00-0001HF & LP FKOD'S
Atin: Amanda Zelwny Pt 208-344 Servicsf  Sow LP & HP FKOD ALTERNATE QUOTE
Business No.: 867329063 Smail vl gy gy GST AET5I90948
Htem Qual llen: 100 BBL B: nd FKO 14.9 pal n ARernasts HP & LP FKO 1 Unit Price j Amaunt t
1 2 Unh-FKQ 100 BBL R ble Doubte Wall Flbergisss Tank and Cradie
Balowground PeSDW 100 BBL Fiberglass ZCL FKO Tank BDis.
1+ 8" 1508 RFYWN Dama inlel wi FRP Dallector
1 - 8% 150# RFVYWN Domae Qutist wi FRP Defleciar
1 - 4° 1508 RFWN Spara/pump Flange
T+ 8% 1508 RFWN Burst Head Flangs
14" 1502 RFWN Flange wi 4° PVC Siotted Stilwell
1- 3" 1508 REVWN Flangs wf 3° PVC Stinger
1+ 3° 150# FF Fibarglass Intersittial Monitor w/ Vactium Geuge Assembly {dauble wak)
All nozzies sre by g beams of g anghs for Al suppor
Galvanired stos! exterior for pre-instalisd system
An per drawing 100-8-8G-FKO-TLC3
ia ) Hy o 50 paig
) 2 ¥ 1504 Intersiiial Jacheled Vacuum Riser w/ Neoprens Gasket
Satof 3° 1504 Underground Boll-Up 4 - 5/8° x .57 Studs | 8 Hex Nuts
3 3 8" ciameter n 367 long 150# RF TI2155 Flex conneciors anged both ands
4 1 107 dismeter x 37" long 1504 AF TA215S Flex connectors flanged both enda
Dptioral accessories
5 ] Ship one 100bbi FKO (HP) ta Ed: to have the fotk g modifications done
Remove 8% RFWN Flangs {Fiare) from sxisting FKO and replace with 16~ RFWN Flange
Retest FKQ and ship back to Tank Lifs Cradies yard and complsts pschaging
(#-5 weehs after drawing spproval}
8 2 X 1504 Pumpout Riser wi Flexstalic Gasket
Setof 3° 1504 Undenground Boll-Up 4 - 5/8° x 3.5° Siuds / 6 Hax Nuts
T k| 4° 1508 Lavel Gaugebaard Riser wiFlexatailic Gashel,
Sl of 47 150# Underground BoR4)p B+ 5/8° x 3 5° Stude / 18 Hex Nuts
| 2 4° 1504 Spare Riser,
Set of 4° 1508 Undergrourst BolUp B« S/B° x 3.5° Stuxty / 10 Hex Nuls
L] x 6" 1504 Burst Riser,
|5t of 6 1508 Underground Boll-Up 10 - 5/87 & 3.5° Studs / 16 Hex Huts
L] 2 TGS 5020 Gauge Kits w/ 4° Flange Mourd wi Flexataliic Gasket
Setof 4° 1508 Surface Bolt-Up B - 5/8" 1 3.5° Studs / 18 Hex Nule
0w - 4" 1504 Flange Mount lor TGS 800 w/ Nuts end Bolts
106 2 AT200 lavel transmitter for & BN TGS 5020 lovel board chw harl protocal & loca! daplay
[{owiivery 6-8 waeks H o stock aveiabls)
n 1 Pump-Out Enviro Box for 3* Connection w! 3° Cipgoie & Camiock Adapter wi cavar
ot 11a 2 |Pump-Qut Envire Box for 3° Connection wf 3° 55 Ball Valve & Camiock Adapter wi/ cover
12 4 |Latching proximity swil ciw -1
13 2 Davoa 253 imtemal enating on sl STL raers shown above (1-wsek daiivary) |
1 2 Devos 253 intanel coating on STL nozzies on above shown FKO { 1-waek delvery)
15 2 SMR-Tek dvi-4 pump, 2 HP axpmol sleciic mokst 2 phase 230/460 Vac
20 USGM, 80-80 FT-TDH, 64" Bielow flanga {sce (2-4 wasks dealivery)
19 2 Undorground pile mourt skid frame isr poor ground conditions
17 2 Truck Loading h: Tunk-lJio-’imelJ
Commants ISuMml
Accounts due 30 days from Invokee dale. GST §5%
FOB :Tank-Life Yard, Kathym, Aterta




